FERAFEERING (36 2 REEAOEFEIRG. BRIEE 2 REERL)

2 R %5 =5 1-A% E2RBEETES | MESEER fex
AtH 2 | Ea& 35 4 0.11
Rz 23 1 0.04
5 58 5 0.09
jt W £ [E 6 6 1.00
P 12 12 1.00
g 18 18 1.00
A BB 2 [E@ 48 5 0.10
& - 158 21 2 0.10
A1~y (REFEAL 27 3 0.77
=5 288 e [ [
ho= 'TWMMMM"TMWMMMM' ......................................
EHEFEE e 65 5 0. 08
A )l £ [E@ 76 22 0.29
Al R 2 [E; 15 7 0.47
B I B R ——
2z ¥ ] 0. 50
B A— 73 6 0. 46
== N e e
5 B £ [EE 6 11 1.83
= e I e — e — e ——
= e e 109 18 0.17
x H 2 [EE 122 80 66
= N e
E |FE 14 9 0. 64
£t 14 9 0. 64
G Z2EE | e [ [
EFRREE 8 6 0.75
£t 8 6 0.75
Jerhig; 2 [EE@ 30 24 0. 80
t & 2 [EE 8 40 049
e T ) Y
T T T B e e
I e
T R
B | i el
] I e I
== SN e
i M s D
e e
T B R
5 BA e _ 217 _ 13 ~0.48
S Y A e e
TREE ry T N
i e ——
3H E @ RIER 71 7 0.10
RS 70 2 0.03
g _ 141 _ 9 ~ 0.06
T S o e
= T ) Iy
= 4 R e
EELS £ @ 110 92 0.84
B £ @ 118 21 0.18
] 770 20 0.18
IYI1717" P-Y 8 / 013
A5 L\ fEdk 20 1 0.05
£t 138 22 0.16
N Bk 2 [E@ 19 7 0.37
| ] e
| R R e —
EsE 79 7 0.37
T T e e
TN S I N Y
e R e —
L e iy e
AKE 2 [EE@ 29 0 0. 00
E= 16 0 0. 00
£t 45 0 0. 00




F R o F& 1-2%F L2 REETFS HEISEEE fa
=55 zma | | e [
e I I
& Rk 2 |EHE 98 34 0.35
Z2 63 30 0. 48
1k 35 4 017
= 2 |FEMRRE 9 14 1.56
=il 10 0 0.00
=23 9 0 0.00
S ] 0 0.00
g 19 14 0.74
R ER 2 |EHE 124 44 0.35
EEE 69 47 0. 59
HLAE 27 0 0. 00
HELTEX 28 3 0.11
M o= 2 [E& 29 11 0.38
R E 2 |1 E& 25 7 0.28
- N N e
N e =
ERE 8 5 0.63
&t 8 5 0.63
= N e
B 8 0 0.00
Gl 8 0 0.00
NEIL 2 |EE 26 0 0.00
JLEBEAA 2 | BEEE 21 5 0.24
EET# 20 6 030
T T e K A
RSERR 19 6 0.32
HERE i 3 0.43
INGT 67 20 0.30
E |3 34 4 0.12
Bl 101 24 24
R ZBEEE || e | |
E=fE ] 9 _ 2 _ 0.22
i e R
EE § 12 _ 11 _ 0.92
T N Y e
IVt 21 13 0.62
E (B3 22 13 0.59
Bl 43 26 0. 60
EIRBEA 2 |BREE _ 6 _ 3 0.50
e e e
BT 4 0 0.00
RIZRE _ 11 _ 3 _ 0.27
I e — e — e —
B 21 6 0. 29
EHRAEE | £ [EYEE 15 2 0.13
BERIE 6 ] 0 _ 00
Y e e
BB 6 0 0. 00
4SEfEAL 3 0 0.00
EFRIE 29 2 0.07
[GES 5 0 0.00
B 58 4 0.07
NELLEM 2|77 T7—R 13 0 0.00
J)=03547 17 T 0.06
J-+7°07 1-2 20 T 0.05
S4ITRFI 13 T 0.08
il 63 3 0.05
HEFTLT 2 MR T s 8 3 0.38
BEREIIT A 1 T 1.00
bt ] 7 1.00
B =
e ] g ey e
[GES 15 9 0.60
Ml EESE 20 6 0.30
= 44 19 0.43




F R o &8 1-2% E2REEFS | POSEELK fas
TETE O i i
i e e — ——
8 R
SETE | [ [ e [
= N B
T e B
ERIH 2 (B AT A 7 0 0.00
BHETE 8 3 0.38
BFTIVARTLA 11 8 0.73
TARIT= 23 10 0.43
[ToR5h | [ [ [
TS L o I N R
=t 49 21 0.43
SRS 2 1B 25 7 .28
127 I7 30 5 17
e T I ) e
AR 1 1 1.00
B 56 13 0.23
IRER I 2 | 25 10 0.40
EEES 7 1 0.14
EX 35 7 0.20
9" 374997-Y 9 3 0.33
RRERT Y 1 23 2 0.09
INET 99 23 0.23
E |t 217 2 0.07
BT I—X 13 2 0.75
g T — < 14 0 0.00
EX 32 1 0.03
I\t 59 3 0.05
Eil _ 158 _ 26 _ 0.16
ETE S N e
T N R e
T R I R e
N =y I R
7 e B
HIERIER 9 1 0.11
Bl 9 1 0.11
EIER L3 2 M 13 3 0.23
EX 8 1 0.13
R 21 3 0.14
BEEFT > 6 7 0.17
RIETF 75 2 0.13
Bl 42 7 0.17
=hIEE 2 | B ATA 18 0 0.00
Bttt X T4 73 0 0. 00
EEE 5 0 0. 00
E 14 1 0.07
Btk 70 0 0.00
Vg ¢5300 4 / 0.25
FIEIER 31 1 0.03
T T 16 / 0. 06
HREFT 11 75 0 a. 00
B 63 2 0.03
NEET £ |EmES 6 1 0.17
g 6 7 0.17
e e
e =y e
GES 11 1 0.09
REFIATh 6 / 0.17
] I ] R
#t 5 0 0. 00
INET 117 2 0.12
E |fE%E 28 1 0.04
il 45 3 0.07
B N T e
o A e e
CTRIHTT | [ [ e |
) ......................................
g 'I' - _ . _..




F R o F& 1-2%F L2 REETFS PIEEREE fa=x
FRERRESE 2 |[HMEaEIXRR 4 7 1.75
FHREI R 37 24 0. 65
EEREI XX 5 4 0.80
EERR—Y 24 3 0.13
i 70 38 0.54
SN 2 |EIRT A 64 10 0.16
ERFEDE 10 9 0.90
ITEYRZ 14 5 0.36
i _ 88 24 0.27
T PE-‘]' % = Pé’i_ % T,
B e [
'%%EMEE e e e
N - My e
et e | |
E |PsE 30 4 13
B 30 4 13
EEIfEES 2 EE YRR 8 3 0.38
O A#RIE 15 4 0.27
BHRE IR 26 9 0.35
Gl 49 16 0.33
TENE ZBERm | | e | |
T S e e
= 3 3
il 3 3
F R L2RBEEE SREEE &g
BISHIERR SH 69 5 0.07
HEFE 22 9 0. 41




